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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Senal Number must be written.
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Don'’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer. '
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective
type questions. i
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Before answering the E]uestions, ensure that you have been supplied the correct and -

complete question paper, no eclaim in this regard, will be entertained after
examination. |
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General Instructions :
(i)  All questions are compulsory.
(i) This question paper contains 35 questions, which are divided into five
Sectior;s :A, B, C, DandE. |
(iii) Section - A contains question number 1 to 18 of objective type questions.

Each question carries 1 mark.
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(iv) Section — B contains question numbers 19 to 25 of very short answer type

questions and carrying 2 marks each.

(v) Section - C contains question numbers 26 to 30 of short answer type

Iguesti_o‘ns and carrying 3 marks each.

(vi) Section - D contains question numbers 31 and 32 of figure based questions

and carrying 4 marks each.

(vii) Section — E contains question numbers 33 to 35 of long answer type

questions and carrying 5 marks each.

(viii) Internal choice is available in all long answer type questions. You have to |

attempt only one of the given choice in such questions.

gs - A
SECTION - A

(s )

(Objective Type Questions)

Ao & FACH T T, T T ST .o FOHGHE T 8l 1
(A) STRR el | (B) b Famies o

(€) T e & | (D) & ¥ g Tél

Cloaca in Frog is common chamber for urinary tract, reproductive tract

BTN  dyssgigaunea ‘ | _

(A} . Alimenfa_ry Canal (B) Renal portal system

(C) Hepatic portal system . .. (D) None of these

g e R e T 7 | :
(A). eI Ty (B) F=-af ey

(C) T=-Hfe i (D) Fr-Fife S
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Centrosome is not present in the cells of :

() Higher Plants e (B) Lower Plants
(C) Higher Animals (D) Lower Animals
3. TR o T ¥ 7 | | - 1
@) oy | - B) | |
© Www D wHadEE
Inufin is & polymertef > '
(A) Glucose | < (B] Fructose
(C) Galactose . T o) Noneot these
T R R o S S T ; :
(A)  Gp-SFeT (B)  Go-3FEn
(C) S-ofger - (D) us=mEEn

In cell cycle, DNA replication takes place in :

(A) Gi-phase . v, _-(B) G2-phase
(&) S-phase | (D) Anaphase
5. e N o FireH & A Al T a (e AR R 7 .
B fEe (B) “¥=d
(C) T | ' (D) TR (feredt)
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What type of movable joint is present between Atlas and Axis vertebra ?

tA) Pivot e (B)

(C) Hinge | | _ (D)

RRe B & QT & ORI W A ¥ 7

&) & s ey ®)
©) CARC RN .
Agar is obtained from which type of algae ?.
B * Grden e (B)
(C) Red -~ | ' (D)

7. AR FHEeH AT & 7

Alternaria is an example of :
(A) Basidiomycetes

(Bj Deuteromycetes

" (C) Phycomycetes
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(D) Ascomycetes

Saddle

Gliding

kU ,
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Brown

None of these
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(A) TR . (B) & |
© T | (D)
Inferior ovary is found inl flower of :
(A) Gusvs "R (B) Mustard
(€] Chigarcse | (B) Btinjal
9. ST e %ﬁtﬁ“iﬁfﬂfq$mT%ﬁﬁTaﬂﬁﬂsnﬂmﬂ‘% AR | 1
T ®)
) @@ S II (D) ﬁmﬁ

Which colour of light is most effective in photosynthesis ?

(A) Blue : (B) Green
(©) Red | 8y By (D) Violet

10. BT Zd F e, B O qFE T W $ o A g g oy ¥ 1
Dialysing ﬂu_id contain all © the constituents as in human plasma
except ..viviie i x

- ISR e T R B orerEn o B B "

Pith is small or inconspicuous in .......vvun.ee
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STRY] 0 TBIEM ... d R 1
Acrosome of the sperm is formed from . _...........
SIS H AR ol R o ¥ 7 1

What is Respiratory Quotient (RQ) of protein ?

des ®HA ol A RRew - |
Write down the scientific name of oviparous mammal.
Wifew 787 § $ oifow goge™ il & 7 ‘ - 1

Which is final electron acceptor in acrobic respiration ?'

ﬁf‘?ﬁ@ﬁﬂﬁ%ﬁﬁ(ﬂﬁﬁwlﬁ 17 3T 18) oo (A) F Fo7 feaw T ¥ oiv
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(D) aﬁﬁmﬁ(A)mimﬂﬁ(R)éﬁTamﬁr%
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In each of the following questions (Q. No. 16, 17 & 18), a statement of

Assertion (A) is given followed by a corresponding statement of Reason (R)
just below it. Of the statement, choose the correct answer using the codes

given below:.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

'(B) " Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

\ ex;:.)lana'tion' of Assertion (A).

(C) Assertlon (A) is true but Reason (R) is false.

PR SR ot S S e Sl <

(D] B_oth Assertion (A) and Reason (R) are false.
16. SINEET (A) : WEHIRE B & § 27 § 6 389 2 ATP 3R 2 NADH IqH
. B Bl 1
RO (R) : TSHIIE T QfEF fhr ¢ oY 36 Fege OO ¥ 9 SfRigd & o
B
Assertion (A) : Glycolysis take place in Cytoplasm and produce 2 ATP and

2 NADH.

Reason (R) : Glycolysis is aerobic process and oxidise substrate fully.

W(A) Wwww%mﬁﬁmaﬁwm%y 1

Assertion (A) : Very low temperature cause permanent denaturation of

enzymes.

Reason.(R] : Very low temperatlire breaks the disulphide bonds of enzymes.
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13.'mﬁw(m=@5&ﬁaﬁaﬁﬁmﬁa@a@ﬁﬂﬁmﬁwéﬁ%l 1
PR (R) : TRA 50 ga THT B B & | '
Assertion (A) : In monocot stem, vascular bundles are arranged in a ring.

Reason (R) : Vascular bundles are of open type.
gE -
SECTION - B
( oy ST He )

~ ( Very Short Answer Type Questions )

19. wﬁawmmﬁwﬁmwﬁ%mﬁﬁm%sﬂ%wwaﬁ%? 2

Name the organism which is responsible for red tlde in sae. What is its effect ?

20, 0 = g @ o | 2

Write down the ﬂoral formula of Solanaceae.

21, Wmﬁqﬁsﬁ%ﬁ%?@wﬁﬁm 2

What is marginal placentation ? Give one example.

22. mﬁaﬁﬁ]ﬁrﬁﬁr (oo Yagw) & Fd Rk - 2

Write down the functions of Endoplasmic reticulum.

3230 i - | | P.T.O.
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R Yo & s v A3 A ¥ 7 gad o e ww A A A 7 2

What are the major pigments of brown algae ? In which form the food is stored
init?

AT

OR

o e B S v AR A% ¥ 2 g S o w0 o A ¥ 7

What are the major pigmehts of r_éd algae ? In which form the food is stored in
it ?

I'H@ﬁﬁﬁﬂ@ﬁﬁﬁﬂﬁﬁ%?ﬁ%?ﬁﬁ%@m | ' 2

Cnidoblast is characteristic feature of which phylum ? Write its function.
SUE

"~ OR

aﬁwamwﬁww%?mmw|

In which phylum water vascular system is found ? erte its functlon

mﬁ@mwmm%? | :

What is Racemose and Cymose Inflorescence ?
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AT

OR

Bl @ B #ey ¥ 7 9 @ e A
What is actinomorphic flower ? Give any two éxamples.
qUe -9
SECTION - C
(v e )
( Short Answer Type Questions )
26. Y UFfRr & Sy @ ffag | 3
Write down the characteristic features of Phylum Annelida.
27. W%Wﬁ?ﬁﬁﬂﬂﬁwﬁam| 3
| Draw a well labelled diagram of human urinary system.
28. AT YREERT @ H gk e 3
: Write down the disorders of human circulatory system. ‘
29. Ry @ RAfT & SMER W RGN # g i - - 3
Classify chromosomes based on the position of centromere.

3230 : o - P.T.O.
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OR
Rt TR & HE-HIH & dUH i

Explain various types of Co-factors.

30, SR B FE FMEN E 7 | 3
What are the fﬁncti‘ons of Auxins ?
T OR
AEAEERTE & H W A § 7
What are the functions of Cytokinins ?
g -
SECTION-D
( fomr omenRa e )

( Figure Based Questions )

31. e Aa ZHEI aﬂ'%@ﬂﬁﬁﬁ CEM ﬁﬂn-%lfﬁ%ﬁ%ﬁﬁﬁ‘%'ﬁﬁT-fﬁﬁq :

G o i e e o B r
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(i) P-TCT 1 20 & 7 ey v A 7 | 1
(i) T 1 Bk ¥ ? gwepr oig o Rl e & 7 | 2
ST
-HWQH(QRS)WW%@%?%W%W%? 2

Given below is diagrammatic presentation of standard ECG. Answer the

following :

(i) . Name the machine which is used to obtain ECG.
(i) What P-wave represehts and what it leads to ?
(iii) What is T-wave and what is the end of it marks ? - -

OR

What QRS complex represents ? What is initiated by it ?

3230 P.T.O.
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32. $F Ru 7w fm @ AR iR Ffafaa vkt & gav & ¢

@) 39 e @ ¥ A o ¥ 7 e Rew de A HeRE R o+
G T B R A e T oy :
(i) TE% T O F-A A ¥ 7 RO 15 | 1

TR T 9T AR A E | .y

See the diagram given below and answer the following questions :

3230
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() What is the scientific name of the organism ? It belongs to which
phylum ?

(i) What type of circulatory system is found in it ?
(i) What are the respiratory organs of it ?

OR

What are the excretory orgéns of it ?

s -
SECTION - E
( & ST He )

| ( Long Answer Type Questions )

83. USTZH %1 3 SOIRS o6 19U i - | 5

Describe catalytic cycle of an Enzyme action.

AT
- OR

o R B F Tew & 9O S

Describe tﬁe significance of Mitosis.
34, TR $ R =T @ AU i | e
Describe various steps of Glycolysis.

3230 P.T.O.
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OR

Se T A TR R

Give the schematic representation of an overall view of Kreb's Cycle.

Describe various steps of Human Respiration.
SLC|
OR

i Fo A T § e AR S a1 e e

Descfibe the structure of a Neuron with the help of labelled diagram.
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